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e UL E 74 2| (=2 F) HES
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T2 E L=l Hetd e oAl 3 M12 5(E3) IR 40,000 50,000 40,000 50,000 #H&¢8l HE a2
AfolER [=R=] Metd = oAl etsAM1d 118Hs) stE 40,000 50,000 40,000 50,000, HEgld | Ha8la
ME oI =1 Mt e oAl AT 2 235-11(A2 ) AT E 50,000 60,000 50,000 60,000 H=8ls | s
g5 2 24 Hetd e oAl A3 35Es) stE 50,000 70,000 50,000 70,000 HE2US | HEBUS
SHRF 2 Hetd: oAl A EE22 16(95) & 50,000 80,000 50,000 80,000 HEAUS | HESAUS
A S El =R=] Matd = oAl AH3Z 35-6(25) stE 50,000 60,000 50,000 60,000 H=gla | s
N = L= Meted e oAl AH3Z 35-6(345) Bl 50,000 60,000 50,000 60,000 H=8l2 | HEUS
= HOkX} 2 HeEtd e oAl A[EE32E 13(83) ElE= 40,000 80,000 40,000 80,000 H=8l2 | HE2US
OHSHE R Hetd e oAl A ES3Z 12-15(%8) gE 50,000 55,000 50,000 55000, HEQUS | HEAUS
A El 2 Mate s oAl AlE S22 22-1(3HE) sts 45,000 80,000 45,000 80,000 H=8l2 | HESUS
22 QM oEl MEIL T O$A| ASE 231(ABE) E=R= 50,000 60,000 50,000 60,000 H=82 | HEUS
MY oE Mg e of$=A| StE M1 13(85) RS 40,000 45,000 40,000 45,000 HEQS | HESUS
AdI=sH 2 Hetde oAl A8 &322 33(%5) stE 45,000 50,000 45,000 50,000| HEgls | HE83
oezg oY HMEtE e oAl A|IHS2Z 36(2H3) IS 40,000 40,000 40,000 40,000 HEglE | HE8E
Ao [=R=] Mt s of=A| AR3Z 35-14(3t5) ElE= 60,000 70,000 60,000 70,000 HE2US | HEUS
LI2AF S S E oh=] Metd e oAl AIHAM6Z 3 (85) ElE= 80,000 110,000 80,000 110,000) HEeUS | B82S
H|L[7|OF= & O] == oH Hetd e oAl A[EM6ZE 19 (&h3) Bl 97,000 117,000 97,000 117,000) HEgl= | B2
=0l E2H L=l Hetd e oAl A[EE32 30-7 (23) Bl 50,000 60,000 50,000 60,000 H=8S | HEUS
Of =3l H| x| = & =l Metd s oAl AIE M6 5 (8Ha) stE 60,000 70,000 60,000 70,000, H=sgs | HEYUS
AMORT S & =L Metde ol=Al A|IEM6Z 23 (35) IR 70,000 110,000 70,000 110,000| &S | HEUS
LiH| & s & = |HEtHE oAl AIES3ZE 35-12 o5 50,000 50,000 50,000 50,000 HEQlS | HEQS
ghetcte ZE | MetEE oAl S4ET7ZE 11-20 BME 40,000 50,000 40,000 50,000, HEQS | HEYS
gL x| @ 2o S &l = Mete e oAl AIHM6Z 13(35) &5 60,000 70,000 60,000 70,000 HEUS | HEUS
Ll AH =R MEtL T oAl AB12 44 (A E) AT E 60,000 120,000 60,000 120,000| HEeUS | B82S
StheZ e Al 2d Hetd: oAl Al EE 32 30-5(&3) stE 50,000 80,000 50,000 80,000 ¥=gla | s
MKZ &l o Metd = o= AAH M52 16(8Hs) ElE= 50,000 70,000 50,000 70,000 Hsgls | HadE
A AE| 24 HeEtdE oAl A[E S 32 30-2(43) ElE= 50,000 60,000 50,000 60,000 H=8S | HEUS
Sty 24 Hetd: oAl A EE32Z 30-3(¢3) el 60,000 80,000 60,000 80,000 HEAUS | HESAUS
ofYaMe g (Ml E oAl AJHAMS5E 26 (BHE) EIE= 40,000 50,000 40,000 50,000 H=8lg | B82S
MAEtD AH o (NMEtEE oAl 2312 40 sts 60,000 110,000 60,000 110,000) HEgls | B2
A < Edl oE  |FEIEE oj5Al A|ES2Z 30(8Hs) g 50,000 90,000 50,000 90,000| HESlS | BHESSlS
StAH|ZtA D E 24 MEtd e oAl SF3Z 3(BF3) L 40,000 60,000 40,000 60,000 | HE2US | HESYUS
HE QoI 24 Metde oAl SFRE 48-7(BFS) Rt 40,000 100,000 40,000 100,000 | HEQUS | HE8S
A o &l o Hetd e oAl SF4Z 5(53F3) R 50,000 60,000 50,000 60,000 | HE2US | HSUS
A 24 HEtH e oAl 3F2Z 8(3F3) ) 30,000 40,000 30,000 40,000 | HESE | HaSUS
ZEf R 2 2 E Metd e oAl 3212 36(3F3) d2s 40,000 50,000 40,000 50,000 | HEQUS | HEUS
AH Ol Eaetal =4 HEtHE oAl YA=E 20(HES) HES 140,000 180,000 140,000 180,000 | HEQlE | HESESlS
ez 2E1) =4 Metde oAl 83| 9955 S) H5E 120,000  220,000[ 120,000 220,000 | HEQUS | HELUS
=AY HM Mete e oAl YUE 33(EHES) HES 60,000 150,000 60,000 150,000 | HESUS | HSES
iz AH o Metgde oAl BYE 40(H5S) 855 80,000 150,000 80,000 150,000 | HEQUS | HE8S
Of2|of S AEl S HMetdE oA A2 185(H55) HEs 80,000 150,000 80,000 150,000 | HESBQIZ | HESBS
HfCh &l oE Fetd e of=A| Y2 213(H5E) HE5s 30,000 30,000 30,000 30,000 | HESUS | HSBUS
SEN s H 2 MeEtdE oA LEER 75(3H8) =85 50,000 70,000 50,000 70,000 | H=8lE | S
HSZH 2 H SE MElLE oA QEEE 743N 5) +=8E 60,000 120,000 60,000 120,000 | HEE8lE | HESElS
ZEHA QD E 2 MEldE oAl LEER 61-1438E) | =85 70,000 90,000 70,000 90,000 | H=2S | HEYUS
A3 pE o Mt e oA RLEEE 61-6(FHE) +=8E 40,000 60,000 40,000 60,000 | HE2US | HSBUS
222 2 24 HEtd T oAl ASHSH2ZE 13(85) RS 60,000 70,000 60,000 70,000 HEQlS | HEUS
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48 ot E R MEtHE oAl ASHSH2ZE 15(3Hs) stE 40,000 40,000 40,000 40,000 HEGlZ | HE8E
49 EL DIA [=R=T Hetd e oAl ASHSH2ZE 19(8s) stE 80,000 120,000 80,000 120,000) HEgls | B2
50 CIESLRS 2 Hetde oAl ASHSHTE 8(H3) Bl 60,000 70,000 60,000 70,000 HE2US | HEBUS
51 EEE 2 H Metgz oA ZEELE 13-15(A2HH) sts 60,000 60,000 60,000 60,000 H=8la | s
52 Jz e 24 Metde oAl ASHS1E 6-4(38) IR 30,000 40,000 30,000 40,000| HE9S | HE8US
53 B&PS & 2E |MEHE oAl a2 15-4(8HE) IR 50,000 70,000 50,000 70,000 HESS | HEUS
54 D HAlEteAH| O] 2E |HEtHE oA 522 30(HS) st& 50,000 70,000 50,000 70,000 HsgE | HEUS
55 dn g 2E |MEtHE oA 522 15(5) ElE= 50,000 50,000 50,000 50,000 H=8l2 | HESUS
56 o3z 2E  |MEtHE oA SEM1ZE 16-6(H3) stE 50,000 60,000 50,000 60,000 HE8S | HE2US
57 Hezg 2E IR oA ASMSEE 14-1(8s) stE 25,000 25,000 25,000 25,0000 Hsgls | Hsdla
58 BES2g 2E et oA 522 23(%S) stE 40,000 50,000 40,000 50,000 H=gl2 | HESUS
59 THE B= & S |HEtHE oA MAE 41(SS) stE 50,000 70,000 50,000 70,000 HESS | HEUS
60 6&9 ZH o Heted e oAl J432 21-10(3HE S) I PSE S 50,000 60,000 50,000 60,000 H=gla | Ha2s
61 FLZE 2H Hetde oAl G432 21-6(2HE 3) o= 50,000 60,000 50,000 60,000 HEoUS | HEUS
62 SHEIH Y == Mt s oA AA3Z 21-3(3HALE) s 60,000 80,000 60,000 80,000 HEQUS | BHEUS
63 2| H 5t A 2H HEtEE oAl GA3Z 24-7(2HE3) oEE 35,000 35,000 35,000 35000, HEQUS | HESUS
64 ="y 2E Hetde oAl 32 242 s) otEE 50,000 60,000 50,000 60,000 HEQUS | HE2US
65 ofz| 2t == Mt s oAl AA3Z 21-4(3HALE) CIPSES 50,000 60,000 50,000 60,000 HEQUS | HEAUS
66 Ho|F ol (=11 Metde oAl 432 24-8(2H &) oIS 50,000 60,000 50,000 60,000 HEUS | HESAUAS
67 ofEFIH LR HEtHE oAl G432 21-5(2HE3) s 50,000 60,000 50,000 60,000 H=gla | s
68 Ol A& =L FEtEE oAl RH6Z 43-4(HES) MAS 50,000 70,000 50,000 70,000 HsglE | S
69 7tete g =11 Hetd e oAl B462 42-4(H - S) MAS 40,000 50,000 40,000 50,000 H=gl2 | B2
70 ME22H 2H Hetd e oAl FH6Z 42-3(MH3) MEAS 50,000 50,000 50,000 50,000 HEQUS | HEAUS
71 i 2E MEted e oAl G4 Z 8-4(3HES) otEE 60,000 60,000 60,000 60,000 HEQS | HERUS
72 ML AF Ol [=1=1 MEtE e oAl QA3 21-17(=HES) o= 50,000 60,000 50,000 60,000 H=8Z | HEUS
73 QA E QIS E == ML T oAl AR 21-11(31E S) CIPSES 110,000 110,000 110,000 110,000| HEQS | HEAS
74 ekRONzH 24 Mete e oAl QA3 21-15@HES) otEE 60,000 80,000 60,000 80,000 =S | HE2US
75 St == MEtH e oAl 248 190-6(2F3) 255 60,000 80,000 60,000 100,000| HEQYS QlIA
76 ofgf| Az & =4 HMEtHE O|5A| 242106, 65,75(EFS) =TS 40,000 50,000 40,000 50,000 H=gl2 | HESUS
77 ZANZEHE oY Hetd e oAl 0{M12 95-9(0 M) M= 50,000 60,000 50,000 60,000 H=82 | HEUS
78 R&BH|=L|ATH A MEtd e oAl 22 58(253) ZTS 85,000 110,000 85,000 110,000| HEes | HES8US
79 A= oY MEtd = oAl 6212 39-14(0 M S) qMs 50,000 60,000 50,000 60,000 H=8S | HEUS
80 Sto| 2ol & 2H Metde oAl 2322 84(ETS) ZTTS 50,000 60,000 50,000 60,000 HEUS | HESAUAS
81 | AE D E o MeEtd = oAl 0212 43-17(0 A 5) M= 50,000 70,000 50,000 70,000, H=sgs | HEUS
82 MJZH R Hetgd e Al 222 76-1(2F38) | 53 50,000 80,000 50,000 80,000 H=8l2 | HEUS
83 1Rt & [=1=T Meted e oAl O 212 43-21(01MS) qMs 50,000 80,000 50,000 80,000 H=8lS | HEUS
84 2|2 e =R MeEtd = oAl 0212 43-13(0A5) z2rTE 50,000 60,000 50,000 60,000 H=gla | Hada
85 ADE S o | HEE2E 69(M3) M= 50,000 60,000 50,000 60,000 H=8ls | HaUs
86 GRH [=R= o212 43-7(0 M 3) qMs 50,000 60,000 50,000 60,000 =82 | HEUS
87 KIZg ZE  |HMEtd T oA O EE3RE 33(ETS) 25E 50,000 60,000 50,000 60,000 =82 | HE2US
88 252 28 (MEtHE A H2E2H2Z 65(2FS) ZTS 50,000 60,000 50,000 60,000 HE8S | HE2US
89 NIn3 o 2E NIt E oA 012 95-8(0 M) M= 40,000 50,000 40,000 50,000 H=gl2 | HESUS
90 Xep = 2 |MEtEE oAl SAEHTE 11-10848) | S4S 50,000 80,000 50,000 80,000 H=8l2 | HE2US
91 SHE L2 ZE (MEEE oAl SAEHTE 11-11(8448) [ 8ME 35,000 40,000 35,000 50,000/ &S ole
92 LHE2|HM HM  |MEE T oA BAS ZIFSOHE 68 SME 75,000 180,000 75000 180,000 HEQS | HEQS
93 ZESDHE 2 |MEtHE oAl S4HH6ZE 11-18(84Hs8) | s4s 40,000 60,000 40,000 80,000 ¥H=8la ol
94 agze 2E |NEtHE oA SAEHBZE 17(348) Sits 40,000 50,000 40,000 50,000 H=8l2 | HESUS
95 2HOH XL A H oY ([NMEtHE oAl S4HEHSE 17-15(84ts) [ S4&E 72,000 110,000 72,000 110,000 HEgls | HE8S
9 Woj| =2 & == Metde oAl 84E7ZH 11-15(84H8) sits 30,000 40,000 30,000 40,000 HEglg | HE8E
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H 72 Metde oAl SAET7ZE 11-24(84H8) atts 35,000 40,000 35,000 40,000 Hs =
mrEE FeEtd e oAl S4E6Z 7(84ts) NS 50,000 60,000 40,000 50,000 oI5t
oFAEH Hetd e oAl SUEH7ZE 8(ELS) SUE 40,000 50,000 40,000 50,000 HEYUS
HeamH HEtd e oAl SAU4EHT7Z 13(84S) S 50,000 60,000 50,000 60,000 HESAUS
a&zg Metg e oA S48 11-16(84tHS) sits 30,000 35,000 30,000 35,000 HE =S
HAE O Hetd e oAl S4E6Z 13(84hs) Stts 120,000 150,000 60,000 100,000 oI5t
L A2 Meted e oAl SAEHEE 17-7(84H8) SMS 35,000 40,000 40,000 50,000 o1&t
Of 2 2 & Hetd e oAl S4tE6Z 11-15(84ts) | 4 40,000 50,000 40,000 50,000 HEs =
Lz HM Metgde oAl SHHE 78(32ta) 5t 60,000 100,000 50,000 80,000 215}
Of 2=H| X[ HI 4 Hetd e oAl St Z 64(523) ECIE= 70,000 110,000 70,000 150,000 olat
Crotm & Hetd e oAl 32522 13(32s8) S8 30,000 50,000 30,000 50,000 Hs =
HEE M3 MEtH e Of=Al 32tH2Z 20(32ts) 32tE 80,000 80,000 HESUS
S "o & HEtEE oAl LEEE 20(32Hs) 38ts 70,000 135,000 70,000 135000 Hasgls | HE8ls
O INNHAESIRA ([HAESRAIMEIHE OJ5A| 3322 16-1(33HE) 335 30,000 50,000 30,000 50,000 H=gls | HESUS
2o HeEtd e oAl S2tH22 8-1(3%Ha) 335 30,000 50,000 30,000 50,000 H=8l2 | HESUS
CHE A AESHRA HEtEE Al S=H2Z 15-1(82H8) | 3245 35,000 50,000 35,000 50,000 HEElS | BISEUS
R HetdE oAl S=t522 15(5%H3) 525 40,000 50,000 40,000 50,000, HESQUS | HESRE
gy Metde oAl 33HE22 25-1(33HE) 33 30,000 40,000 30,000 40,000| Ha9S | HE8US
ZUADHE HEtdE oAl S22 87-1(523) S 35,000 50,000 35,000 50,000 H=8lg | B82S
S5 Hetde oAl S4& AUFZ 9 =4S 70,000 130,000 70,000 120,000 HEEUS oI5}
SHECEHHIAM Metee of=Al S4S LHBHCLE 85 =4S 50,000 70,000 50,000 60,000 HSSUS 215}
SHX| 2z A HH Hetd e oAl S45 TFIHHE 76 =S 60,000 145,000 75,000 145,000, Q4 HE a2
Ledaxd Hetgk Al St ZEB2t= 93 =ME 50,000 120,000 50,000 120,000 H38lE | HSEUS
StotCh= & Hetd e oAl S5 292 1 =S 100,000 210,000 100,000 150,000 H&EAUS oI5t
AR A Metee oAl S4tS TRt 9 =4S 95,000 133,400 95,000 133,400| HE9US | HE8S
AR OlH Metede oAl S4tS ZE4Z 53 e 50,000 50,000 50,000 50,000 HEQUS | HEAUS
ASHHME HeEtd e oAl OfF=A|RIZ 2(B3ts) Eols 210,000 280,000 210,000 280,000 H=8l2 | HESUS
K| EEH M Hetd: oAl AT 2 1(F2s) ECIRS 160,000 200,000 160,000 200,000 &S | HESUS
Of 4= &0 153 MEIHE OfA| Ol MARE 202 35(385) | S35 230,000 380,000 230,000 380,000, Haglg | Ha8l2
Cto|of 2 Etl Metd s oAl MEEZ 6-3(15) ns 40,000 70,000 40,000 70,000 HsgE | HEUS
A7H0| 2 E Metd= oAl S 5-5(18) ns 60,000 80,000 60,000 80,000 H=8lZ | HEUS
W7t 28N Hetd e oAl St Z 66(523) Ssls 144,200 211,400 144,200 211,400 HE8S | Ha83
o[i==y =]~ MEtHE OffAl EEZ 6-1(1S) ns 60,000 70,000 60,000 70,000 HE2US | HE8US
DE-E| Hetde oAl 512 6-12(13) ns 50,000 80,000 50,000 80,000 H=8lZ | HEUS
SE THEL HMetd e ofA| Ol B Z 135(3%HE) B3t 99,000 220,000 99,000 220,000, HES | HELUS
ZHLESIR A Hetde oAl S2E 2-2(5Y3) 54S 25,000 25,000 25,000 25000 Hsos | HEUS
S oHEtHrCHEI M Metde oA O|=MEEE 159 (BB | LS 170,000 260,000 170,000 260,000 H=Ql2 | HEBUS
QO|Ct HAE BI2A |HAESRA|MEILE oA S22 1814 E) SLE 25,000 25,000 25,000 25,000 HESls | HEUS
SN HE MEIYE oA SYUE 72-221(EYS) Rk 50,000 70,000 50,000 70,000 Hsgls | HES
of 4= OfmI A Mtz ojA| SR E 60 (B3} 3t 120,000 220,000 120,000 220,000 H=l2 | HESUS
st E2¢ Metee oAl B E1Z 5-418) mE= 60,000 90,000 60,000 90,000 H=8E | HEUS
BNz Metgd e ofs=A| OJE9Z 1008 3) 0Es 40,000 50,000 40,000 50,000 H=gl2 | HE8US
Z=op|pE HMEtg e OA| QEI4Z 53(2EE) REUSF 50,000 65,000 50,000 60,000| HSAUS oI5t
=SHiO| 2 & MEtH s oAl Q242 5522 5) RS 50,000 70,000 50,000 70,000 HEUS | HEUS
otz Hl Mete e oAl RE4Z 5428 S) REUE 40,000 50,000 40,000 50,000 H=gl2 | HESUS
AEL| 2 E MEtHE oj$A| 22142 5922 E) QEUS 40,000 50,000 50,000 60,000{ QI ol
olsteAzH Metd e oAl 22142 61(2ES) QEE 50,000 60,000 50,000 60,000 HE8S | HE2US
otE| 2 g Metee oAl 222 12-6(2ES) QIS 50,000 70,000 50,000 70,000, Hsgls | HadE
2HN| o= Mtz oAl 22022 12-42EE) REUS 70,000 90,000 70,000 90,000 H=8lE | HESUS
(G ES=Ke][=T Mtz ojAl 22022 12(EE) (ST 50,000 60,000 50,000 60,000 HE2S | B2
ged Hetd = oAl 284Z 48(2E3) 2YS 50,000 60,000 50,000 60,000 HEES | HEUS
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